
Class:Class 6 Subject: SST Topic:The Roman Empire and Harsha 
Dynasty

S.No Question Answer Options

1 Harsha died in the year 
___________ .

847 AD

647 AD

647 BC

847 BC

847 AD

647 AD

647 BC

847 BC

2 When did the Greeks enter 
the field of oceanic trade?

300 BC

1 BC

300 AD

500 AD

300 BC

1 BC

300 AD

500 AD
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3 Where did the Kushanas 
come to India from?

Turkey

Tajikistan

Afghanistan

Burma

Turkey

Tajikistan

Afghanistan

Burma

4
Fill in the blanks : The 
Roman economy was based 
on ____________ labour.

Answer
____________

Answer
____________

5
State true or false : Jesus 
Christ was born in Palestine, 
a Roman province.

True

False

True

False
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Correct Answer is
1. Correct Ans option is 647 AD
2. Correct Ans option is 300 BC
3. Correct Ans option is Tajikistan
4. Correct Answer is slave
5. Correct Ans option is True
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